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treated as case of unfair means.

Q.1 (1*5= 5 Marks)
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schcduhng algorlthm that may result in starvééﬁc

e. What resources are required to create a thréhd? H@w creatjon of threads is different from
Nt )

Y

process creation. ot

Q. 2 a) (3 Marks) Consider a system mfhk*%@cesses with arrival times (O 0,6,7,8) and burst
times (16,10,4,6,10) respectively. Cre%‘ -a tt‘* chart a*id calculate the awg waiting tlme for
Round Robin scheduling and Sho e
Assume that the quantum is sef#0 5%
b) (1 Mark) A short quantun?\- ize %round robin allows a scheduler to cycle through more
processes more quickly thag with \Q“Iong quantum. What is the downside of this?

Q. 3 a. (2.5 Marks) § erte a° parent program that forks three child processes that each sleeps a
random number of’ Fsecon! ds The parent process should wait for a child process to terminate and
each process vgﬂ] pgmt %he1r respectlve process ids and parent process 1ds
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Q. 4 (2 Marks) Explain how dual mode operation is used in {memory, 10, CPU} protection.



